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Geometry — Pythagoras’ theorem - Finding lengths of sides

Recap

1. Define Pythagoras’ theorem

2. Round the following numbers to one decimal place:

a. 135 W e. 1340 134
b. 1.89 [.9 f. 5636 56.k
c. 224 7.2 g 599 4.0
d. 12564 2.6 h. 045 0.5

3. Round the following numbers to three significant figures:

a. 1265 2.7 e. 13.04 |3.0
b. 1.879 |[.R% f. 1996 Z0.0
c. 02475 (0.24F g 599 £.00
d. 12.0564 |2, | h. 0.040502 O.0hO5

4. Simplify the following:

a. (V2)? =
b. (V3)?

(V8)? =g

}
»
(@]

d. (Wx)?= o

"
(W)
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Core

1. Find the length of the hypotenuse in the triangles below. Give your answers to three

significant figures.

\ 943,

AN
67_ + g?.: C'l.

100 =c*
6cm
(@

8cm
8 cm
c. a+b =c”
5cm 51157' :C'b
Q 50 =c°
C =[50
> cm ?o O?O\/\/\,

/6mm
[ I%.’-{—m

12 mm
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. ot =’
) 7. L
§r3=C
N3 =c*
8 cm
[O.6 cn
7 cm
f.

16 cm 30cm ?DH”OWV

2. Find the length of the unknown side in the triangles below. Give your answers to three
significant figures.

a.
8 cm
5cm
60 Z,LI'C)/VL
X a*tb*=c*
ot558%=¢°
a +30.25 =64
8cm a* = 33,75
6. %I CW\J
55cm
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C.
3cm
9cm
g e Hq cwn
d.
10 cm
4cm
Gfo "?OWU
e.
7cm
> cm

N.40cun

3. What is the length of the diagonal of a square with sides of length 20cm, giving your answer
to three significant figures?

2.0
L Z%-gom,

20

4. What is the length of the diagonal of a rectangle with sides 18cm and 15cm , giving your
answer to three significant figures?

- 23 .H o

(I
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5. Anisosceles triangle has two sides of length 10cm and one side of length 4cm. Calculate the
perpendicular height of the triangle, giving your answer to one decimal place.

<" +2°= 10°
1O

~< =46

2 2

X =q.% cm ((J'f))

6. Calculate the perimeter of the triangle to the right, correct to one
decimal place:

j(fﬁ- [52.: ’%Z
%z — q.q 18 m 15m
2. Perimeter = 4.9+418 +1S =
~N2.G Cl—d-p)
Extension

1. Two people, starting at the same point, walk along a straight line in opposite directions

for four metres, then turn left through ninety degrees and walk for another three
metres. What distance are they now apart?

2. Sketch an equilateral triangle of side 2 cm. Draw one line of symmetry of the triangle.
Use Pythagoras’ theorem to calculate the height of the triangle and hence calculate the
area of the triangle. Leave your answers as square roots.

2 2

)
'+] =2 S freq = 27203

x*= 3 =03 ey
x =2
| il
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3. Aladder leaning against a vertical wall is 6m long. The bottom of the ladder is 2m from
the base. How high is the ladder up the wall (correct to one decimal place)?

6 ’)Cz"'zz:éa
2 x~ =32
e

x = 5 a 7' (@748 ( {OKP>
4. Arope of length 12m is tied to the top of a flagpole and the height of the flagpole is 8m.

How far will the end of the rope be from the base of the flagpole, if pulled tight (correct
to one decimal place).

2852 12°
lzj |c8 ** = 8D
oC

K = B.9m Clelp)

5.

Find the value of x, giving your answer in the form vk, where k is a whole number.
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